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SA B O9I(SH) - MRALY - BAS o v o ® o RS2
H23H 578,905 572,845 6,060
SFE A3 496,102 487,69 8,407
F=oE0 X 155,152 156,695 A1,543
FOEH 2 A X2 3,780 4,200 2420
201 =3 810 900 A0
03 HAI2HI 810 900 290
OZHAYAL 2E 450,000 x22]*90% 810 900 A0
301 Et2 &= 2,970 3,300 A330
11 HAIMHIXI RS 2,970 3,300 A330
OgAIMHIEa = 2,970 3,300 A330
—SHHe ASAA FLH2H
8,000& » 100 22/ +90% 1,440 1,600 A160
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201 L2 19,452 20,475 1,023
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405 KHAHF SH] 900 1,000 A100
01 TR ESF SHI 900 1,000 2100
O&EAN 2g S S35 St
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NE:Fag=P) k= 340,950 331,000 9,950
S =QUHAMA(FLUXXE) 300,950 291,000 9,950
201 L2 950 1,000 AB0
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01 ML ESF=H 10,000 10,000
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M HYS2IHH(EEH)
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HHSHAH|(LADH) 82,803 85,150 N2,347
Jl2&yl 82,803 85,150 N2,347
Jl=2y] 82,803 85,150 N2,347
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1,200,000 * 122 x95% 13,680 14,400 AT20




